Guess the animal using comparatives (HEIGHT- tall/ WEIGHT-heavy/ LONGEVITY- lives longer/ STRENGHT: strong)

HEIGHT: 1 WEIGHT: 5 kg
LONGEVITY: 15 years STRENGTH: 3

HEIGHT: 3 WEIGHT: 30000 kg

STRENGTH: 5

LONGEVITY: 50 years

HEIGHT: 5 WEIGHT: 500 kg
LONGEVITY: 30 years STRENGTH: 4

ARMADILLO

HUMPBACK WHALE

APALOOSA HORSE

HEIGHT: 2
LONGEVITY: 30 years

WEIGHT: 6.3 kg
STRENGTH: 4

BALD EAGLE

HEIGHT: 1 WEIGHT: 4 kg
LONGEVITY: 45 years STRENGTH: 3

PUFFIN

HEIGHT: 6 WEIGHT: 630 kg
LONGEVITY: 33 years STRENGTH: 3

BISON

HEIGHT: 4 WEIGHT: 1050 kg
LONGEVITY: 20 years STRENGTH: 3

HEIGHT: 2 WEIGHT: 1050 kg
LONGEVITY: 20 years STRENGTH: 3

Ay

BEAVER

HEIGHT: 4

WEIGHT: 750 kg
LONGEVITY: 25 years STRENGTH: 3

GRIZZLY BEAR

HEIGHT: 2 WEIGHT: 26 kg
LONGEVITY: 3 years STRENGTH: 3

'RACCOON

HEIGHT: 3 WEIGHT: 20 kg
LONGEVITY: 20 years STRENGTH: 3

HEIGHT: 2 WEIGHT: 26 kg
LONGEVITY: 3 years STRENGTH: 3

COYOTE

BADGER




